[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

"

ML L A LS L LR AR LR LRLRY RRRR

1.0

Ratio

0.95 . .
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TToriginal
Efficiend —— pom_mkFit_TTNEWnoMS-genMatch-CUT

N 0.02—— : : :
e
e
O IRREN

e_E;cmacy_dgs \_@rt

30 =20 -10 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05 :
> P P P :
00.045fF - preenrieesees A cTTTTT AR A E
S : : : : : :
T A
B S S 1
P : : : : : :
U s SRR S 1 S
o : : : : : :
s S S e e 1|
9} : : : : : :
0.02F++heersieesendenecdoneefroen
0.015F -~
0.01
0.005

10

Ratio
e
o

iy

o
©
TTT

|
N

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


